T2 FEAIFRMAFAERSE (ERIKHRAER]

IS
(SHM3FE12 A28 AFES)
[ETIEDJERE]
ZTIER AR 5

ASFN2410 H 23 H

Rl S | I #E

TIEf& AT

p=(1113

ASF3412 A28 H

/VL§+§—E< % 41 2%

Tee Itk <5 4% (98,99 H)
(BES

B RAREE DERCIRDLHER (113 H)




S sl g = | sy > > 3 £ = B A
S 2 FEATSEHHATHEE ERRIATR] EBR SRREI0A 23
M feEks
RO 3B R (AR
a1k BRI S (98E. 99K)
(1E)
b AFE ALY
N o oF % K fiE - & w90 LS b i e - i & . N
X 43 - v P = v [ 4
# | B8 | & 5 | % 5 | % 5 | % 5 | % 5 | %
I ik 30 G S 854 596 258 4 2 170 83 42 24 - 1 - F % 30 4 B
#H HE [ & 8 5 3 4 2 — — - - - - — i B [ &
T HE [ & 29 16 13 — — 5 8 — — - - - T B [ &
S N N S N 5 4 1 - - 4 1 - - - - - 53 S S H th
0 iy [ & 811 570 241 - - 161 74 42 24 — 1 — H iy [ &
e Bl Lo Lo - L Tl - T T T Moo A e B
¥ 0 T £ B 843 612 231 :l 5 196 66 23 3 1 3 ® kil T & | 4
) s i & 8 3 5 3 5 - - - - - - - 1 it i &
(%) (100.0)  (100.0) (100.0) (100.0) - - - - - - - (%)
WAERY AR - - - - - - - - - - - - EBERE e w1
AF} RERI AR - - - - - - - - - - - - HERI AR EN
e i PO B - - - - - - - - - - - - R gk FO%E R
L e 2 8 3 5 3 5 - - - - - - - £ e B
T HE [ - 25 13 12 — — 6 4 — 2 - - - T B [ &
(%) (100.0) (100.0) - - (46.2) (33.3) - (16.7) - - - (%)
Acbapmpy TR K ! > - - 2 ! - ! - - - T g w o m R
RER AR 2 - 2 - - - - - 1 - - - HERI AR
L %< B 14 9 5 - - 4 3 - - - - - & e B
S N N < N 6 4 2 - - 4 2 - - - - - 53 S S H th
(%) (100.0)  (100.0) - - (100.0) (100.0) - - - - - (%)
0 iy [ - 804 592 212 = - 186 60 58 21 3 1 3 H iy [ &
(%) (100.0)  (100.0) = - (31.4) (28.3) 9.8) 9.9 (0.5) (0.5) (0.5) (%)
¥ 55 - - - - - - - - - - - - ¥ 59
(%) — — — — — — — — — — — (%)
(F&)
b AFE ALY
N oW oF % K fBE - & 990 LS b 1z 7e - i & . N
X 43 - v P = v [ 43
# | B8 | & 5 | % 5 | % 5 | % 5 | % 5 | %
I 24 30 G S 854 596 258 4 2 170 83 42 24 - 1 - F 04 30 4 S
# HE [ & 8 5 3 4 2 — — - - - - — i B [ &
T HE [ & 29 16 13 — — 5 8 — — - - - T B [ &
S N N < N 5 4 1 - - 4 1 - - - - - 53 S S H th
0 iy [ & 811 570 241 - - 161 74 42 24 — 1 — H iy [ &
e Bl Lo Lo - L Tl - T T T Moo N B
¥ 0 T £ B 843 612 231 :l 5 196 66 23 3 1 3 ® kil T & | 4
) s i & 8 3 5 3 5 - - - - - - - 1 it i &
(%) (100.0)  (100.0) (100.0) (100.0) - - - - - - - (%)
WAERY R - - - - - - - - - - - - EBERE e w1
A RERI A - - - - - - - - - - - - AL *
e fE PR R - - - - - - - - - - - - R gk B FE
L e 2 8 3 5 3 5 - - - - - - - £ e B
T HE [ - 25 13 12 — — 6 4 — 2 - - - T B [ &
(%) (100.0) (100.0) - - (46.2) (33.3) - (16.7) - - - (%)
A amp Rk 9 4 5 - - 2 1 - 1 - - - L N T
RN 2 - 2 - - - - - 1 - - - RERIZEA
L %< B 14 9 5 - - 4 3 - - - - - & e B
S N N < N 6 4 2 - - 4 2 - - - - - 53 S S H th
(%) (100.0)  (100.0) - - (100.0) (100.0) - - - - - (%)
0 i) [ - 804 592 212 1 - 186 60 57 21 3 1 3 H iy [ &
(%) (100.0)  (100.0) (0.2) - (31.4) (28.3) 9.6) 9.9) (0.5) (0.5) (0.5) (%)
¥ 55 - - - - - - - - - - - - ¥ 59
(%) — — — — — — — — — — — (%)




M2 FEAIFRMAAETRESE [ERINRAFER] ER #3412/ 28

S S AR DR UUHER (113H)

(1F) (7)
. . . HEZRE = e s =g | RS SR
. - e .~ FEERLIADE EEEHEDIL T :a . ety | LEREEISN DR HEHEDOIL L -
. e EEEFHEE L o — BRI e A ANEFDIL ! N s =& " —WE 7l g e - . o ANFEHDIL
meg et ' ¥ F A o= o= ¥ B F P ?Ef] FEE-FET %H&L(?ﬁ?%é) SR TS i T 7 IN B W #F B o - gy)})@{f] REE- LT %ML(%D;; AL C %
- & (B#H I3 # o (E )
JE
% % % % % Yo % %o % % %o %o %o % % %
& Fi 40134 20 228 1 50.4 10826 : 27.0 4352 10.8 1 095 2.7 3631 9.0 2 0.0 4 0.0 5 0.0 & §h 40 134 20228 | 50.4 : 10826 | 27.0 4 352 110.8 1 095 2.7 3631 9.0 2 0.0 4 0.0 5 0.0
2= B & 37218 19652 : 52,8 10143 | 27.3 3739 10.0 706 1.9 2978 8.0 — — 4 0.0 D 0.0 WAk 21 4F EELA Al 37 218 19 652 §{ 52.8 1 10 143 | 27.3 3739 110.0 706 1.9 2978 8.0 — — 4 0.0 5 0.0
E B 2916 576 | 19.8 683 : 234 613 21.0 389 133 653 224 2 0.1 — — — — TE R il 2916 576 i 19.8 683 | 23.4 613 i21.0 389 | 13.3 653 1 22.4 2 0.1 — — — —
& Bk 39762 20200 50.8 10545265 4259 10.7] 1 188 .0 3567 9.0 31 0.0 6 0.0 18} 0.0 A Bk 39762 20200 50.8 | 10545 | 26.5| 4259 10.7| 1188} 3.0{ 3567 9.0 31 0.0 61 0.0 18| 0.0
= B#l 36 959 19 647 : 53.2 9 87T | 26.7 3699 10.0 822 2.2 2911 7.9 3 0.0 3 0.0 15 0.0 22 4 Bl 36 959 19 647 | 53.2 9877 1 26.7 3699 {10.0 822 2.2 2911 7.9 3 0.0 3 0.0 15 0.0
E Bl 2803 553 1 19.7 668 : 23.8 560 1 20.0 366 | 13.1 656 | 23.4 - - 301 31 01 JE WEdl; 2 803 553 | 19.7 668 | 23.8 560 {20.0 366 | 13.1 656 | 23.4 - - 31 0.1 31 0.1
& #i 40658 20790 ¢ 51.1 ¢ 11249 277 4464 11.0 1152 2.8 2 999 7.4 4 0.0 2 0.0 10 0.0 & §k 40658 20790 | 51.1 7 11249 27.7 4464 111.0 1152 2.8 2 999 7.4 4 0.0 2 0.0 10 0.0
2 B 37799 20274 53.6 10514 | 27.8 3901 10.3 802 2.1 2307 6.1 1! 0.0 1 0.0 61 0.0 23 4 B} 377991 20274 53.6 10514 | 27.8 3901 {10.3 802 2.1 2307 | 6.1 11 0.0 11 0.0 61 0.0
EREH 2859 516 | 18.0 735§ 25.7 563 19.7 350 | 12.2 692 | 24.2 3. 0.1 1. 0.0 4} 0.1 A WEdl] 2859 516 | 18.0 735 | 25.7 563 119.7 350 | 12.2 692 | 24.2 3] 0.1 1] 0.0 4] 0.1
& B 42908% 21946 511 121142832 4827 11.2 928 2.2, 3092 7.2 1i 0.0 9. 0.0 91 0.0 A Fh 42908 21946 | 51,1 12114 | 28.2| 4827 |11.2 928 | 2.2 3092 7.2 1 0.0 91 0.0 91 0.0
4 Hfl 39845 21414 537 11349 : 285 4211 10.6 598 1.5 2272 5.7 1 0.0 4 0.0 6. 0.0 24 4 HHL 398451 21414 53.7 1 11349 28.5 4211 {10.6 598 1.5 2272 5.7 1 0.0 41 0.0 61 0.0
ERFH 3063 532 1 17.4 765 | 25.0 616 20.1 330 10.8 820 | 26.8 - - 3. 0.2 31 01 JE WL 3063 532 | 17.4 765 | 25.0 616 |20.1 330 | 10.8 820 | 26.8 — - 5| 0.2 31 0.1
& BM 412651 214581 52.0 0 11143 27.0 4942 12.0 8331 2.0, 2889 7.0 — - 3 0.0 31 0.0 A& FH 41265 21458 | 52,0 11143 | 27.0| 4942 12.0 8331 2.01 2889 7.0 — — 31 0.0 31 0.0
2 B#Hl 38179 20946 { 549 10335:27.1 4175 1109 454 1.2 2 269 5.9 - — 1 0.0 2 0.0 25 4= H#l 38 179 20946 { 54,9 | 10335 27.1 4175 110.9 454 1.2 2 269 5.9 — — 1 0.0 2 0.0
EEFH 3086 512 ¢ 16.6 808 : 26.2 767 [24.9 379 12.3 620 20.1 - - 2. 041 1] 0.0 AE W] 3086 512 | 16.6 808 | 26.2 767 124.9 379 | 12.3 620 | 20.1 - - 2] 0.1 1] 0.0
& Fi 42 307 22 423 ¢ 530 10907 ! 258 5471 12.9 T37 1.7 2 765 6.5 4 0.0 9 0.0 5 0.0 & §h 42 307 22 423 | 53.0; 10907 | 25.8 5471 112.9 737 1.7 2 765 6.5 4 0.0 9 0.0 5 0.0
4 B f 39313 21928} 55.8 10169 : 25.9 4574 11.6 405 1.0 2 237 5.7 — — 9 0.0 4 0.0 26 4 H i} 39313 21928 § 55.8 ] 10169 | 259 4574 i11.6 405 1.0 2237 5.7 — — 9 0.0 4 0.0
E R 2 994 495 | 16.5 738 | 24.6 897 130.0 332 11.1 528 176 4. 0.1 — - 1] 0.0 JE R 2994 495 | 16.5 738 | 24.6 897 130.0 332 | 11.1 528 | 17.6 41 0.1 - - 1] 0.0
4 B 42567 22661 532 10864 955 5601 13.2 623 1.5 2802 6.6 16 : 0.0 5 0.0 21 0.0 & dh 425671 22661 53.21 10864 25.5 5601 {13.2 623 1.5 2802 6.6 161 0.0 51 0.0 21 0.0
= H#l 39618 22125 % 5581 10142 : 2568 4686 11.8 326 0.8 2 324 5.9 15 0.0 5 0.0 1 0.0 27 4 Bl 39618 22 125 55,8 10 142 | 256 4686 {11.8 326 0.8 2 324 5.9 15 0.0 5 0.0 1 0.0
TEEFHl 2949 536 ¢ 18.2 722 | 24.5 915 31.0 297 | 10.1 478 | 16.2 1: 0.0 - — 11 0.0 W] 2 949 536 | 18.2 722 | 24.5 915 131.0 297 | 10.1 478 | 16.2 L] 0.0 - - L] 0.0
& B 43421 228421 526 10873: 250 53619 129 558 1.3 3 522 8.1 T 0.0 2 0.0 5 0.0 & Fh 43421 22842 { 52.6 1 10873 | 25.0 5619 {12.9 557 1.3 3523 8.1 7 0.0 2 0.0 5 0.0
4 HE: 40 570 22323 ¢ 55.0¢ 10160 : 25.0 4 687 11.6 363 0.9 3033 7.5 4 0.0 1 0.0 2 0.0 28 4 H#l 40 570 22 323 | 55.0{ 10 160 | 25.0 4687 {11.6 363 0.9 3033 7.5 4 0.0 1 0.0 2 0.0
EEFH 2851 519 i 18.2 713 : 25.0 932 32.7 195 6.8 489  17.2 3: 0.1 1. 00 31 0.1 E WEdl] 2851 519 | 18.2 713 | 25.0 932 132.7 194 | 6.8 490 | 17.2 3] 0.1 1/ 0.0 3] 0.1
& Bt 43025 21982 51.1 11307263 5418 12.6 460 1.1 3838 9. - = - - 31 0.0 4 #H 43025 ) 21982 511 11307 | 26.3| 5418 126 460 | 1.1 3858 9.0 -1 - - - 31 0.0
2 HE 40 173 21435 534 10566 26.3 4569 11.4 245 0.6 3 358 8.4 - — - — 3 0.0 29 4 [l 40 173 21 435 | 53.4 ¢ 10566 | 26.3 4569 i11.4 245 0.6 3 358 8.4 - — — — 3 0.0
= B 2 852 547 1 19.2 741 26.0 849 29.3 215 7.5 500 | 17.5 — — — — — — & I 2 852 547 1 19.2 741 1| 26.0 849 129.8 215 7.5 500 { 17.5 — — — — — —
& F 43041 22018 512 11696272 5340 12.4 497 1.2 3489 g1 1: 0.0 1. 00 41 00 & ®h 43041 22018 | 51.2 | 11696 | 27.2| 5340 12.4 497 1 1.2 3489 8.1 11 0.0 11 0.0 41 0.0
2= B & 40355 21 550 : 53,4 10979} 27.2 4515 11.2 327 0.8 2 984 7.4 — — — — 3 0.0 30 4= BT 403557 21550} 53.4 1 10979 | 27.2 4515 1{11.2 327 0.8 2 984 7.4 — — — — 31 0.0
= BF 2 686 468 ¢ 17.4 717 | 26.7 825 :30.7 170 . 6.3 505  18.8 1i 0.0 1. 00 1§/ 0.0 EWEHlL 2 686 468 | 17.4 717§ 26.7 825 130.7 170 | 6.3 505 | 18.8 1] 0.0 11 0.0 11 0.0




